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FORENSIC SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Gel electrophoresis is useful in the identification of following :
(A) Blood (B) Alkaloids (C) Insecticides (D) All above

2.  Anthropometry was started by :

(A) Hans Gross (B) Bertillon (C) Galton (D) Locard
3.  First Central Forensic Science Laboratory in India, was established in 1952 at :

(A) Delhi (B) Chennai (C) Mumbai (D) Kolkata
4.  The presence of kerosene in gasolene can be determined by :

(i) HPLC i) TLC (i) GLC iv) GCMS

(A) (1) and (ii) (B) (ii) and (iii) (C) (i) and (iv) (D) (i) and (iv)
5.  After reaching the scene of crime, first thing the investigating officer should do :

(A) Security of the scene

(B) Locating and lifting the finger prints
(C) Send the dead body for post mortem
(D) Collect blood

6.  The blood grouping system was given by :

(A) Henry (B) Burrard (C) Landsteiner (D) Curry
7.  Magistrates inquest is done in cases of :

(A) Dowry Death (B) Custodial death

(©) Police firing (D) All of the above

8.  ECD detector in GLC is most suitable for the detection of :
(A) Gasolene (B) Insecticide
(C) Metallic poison (D) None of the above
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10.

11.

12.

13.

14.

15.

16.

17.

Silica gel is used in :
(A) Paper chromatography (B) Thin layer chromatography
(C) Low voltage electrophoresis (D) High voltage electrophoresis

Ptyline enzyme is found in :

(A) Blood (B) Semen (©) Milk (D) Saliva
Polarising microscope is useful in identification of following :
(A) Paint (B) Soil (C) Fibres (D) Paper

Arrange the following tests of blood in order in which they are performed. Use the
code given below :

(i) Benzidine Test

(i) Group Test

(iii) Precipitin Test

(iv) Takayoma Test

Code :

(A) @ @) (@v) ()

(B) (@) @v) @ ()

© @ Gv) @) (i)

(D) @@ @) (@v) @

Urine gives following fluorscence under U.V. Light :

(A) White (B) Blue (C) Green (D) Yellow
P 30 is found in :

(A) Urine (B) Tears (C©) Milk (D) Semen

If the father’s blood group is MN & mother is of N group the possible blood group of the
child is :

(A) M&N (B) N only (C) MN only (D) MN & N

Which of the following method is the most reliable for Identification amongst identical
twins ?

(A) Finger prints (B)
(C) Scar marks (D)

DNA finger printing
Blood Groups

Reinsch Test is satisfactorily used for the detection of :

(A) Lead (B) Phosphorous (C) Arsenic (D) Copper
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18.

19.

20.

21.

22.

23.

24.

Chloral hydrate comes under the following category :

(A) Tranquiliser (B) Hypnotic (C) Hallucinogen (D) Analgesic
The following are organo chloride insecticides :
(i) Lindane (i) Parathion (iii) Malathion (iv) BHC

(A) (i) and (ii) (B) (ii) and (i) (C) (iil)and (iv) (D) (i) and (iv)

Assertion (A) : Multiple fracture of a bone is grievous hurt.

Reason (R) : Because it is mentioned in sec. 320 I.P.C.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Quantitative estimation of ethyl alcohol can be done properly in :
(i) urine (i) salive (iii) blood (iv) perspiration

(A) (i) and (ii) (B) (i) and (i) (C) (i) and (i) (D) (iii) and (iv)

In gun-shot residues Walker Test is done for detection of :

(A) Nitrate (B) Nitrite (C) Lead (D) Antimony

Assertion (A) : Choking reduces dispersion of pellets.

Reason (R) : Constriction of barrel at muzzle end occurs in choking.
(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

The diameter of a 12 bore gun is :

(A) 0.620” (B) 0.689” (C) 0.729” (D) 0.820”
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19.
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21.

22.

23.

24.
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25.

26.

27.

28.

29.

30.

Match the following :

Exhibits Section of F.S.Lab
(a) Saliva (i) Serology
(b) Blood (i)  Ballistics
(c) Firearm (iii) Biology
(d) Poison (iv) Toxicology
Code

@@ () (o) (d)
(A) @) @) @) @Gv)
(B) @) () (@) @)
© @) @ G @)
(D) Gv) @ () ()

Match the following :

(a) Finger print (i) Ninhydrine
(b)  Foot print (ii) Skid marks
(c) Vehicle Accident (iii) Medullary index
(d) Hair (iv) Plaster of paris
Code :

(@ (b)) (o) (d)
A) (v @ @) 6
® O @) @ i)
© O @ @) @w)
D) (v @ @ (i)

Which of the following is used in Molotov Cocktail ?
(A) Phosphorous (B) Magnesium (C) Arsenic (D)

The flash burns in cases of explosion injury is due to :
(A) Radiation (B) Conduction

(C) Convection (D) None of the above

Medullary index in case of human hair is :
(A) 0.1 (B) 0.3 (G 04 (D)

The following is a regenerated fiber :
(A) Cotton (B) Artificial Silk  (C) Rayon (D)
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31. In females the barr bodies are found in hair follicles in a proportion of :

(A) 6+2 (B) 18+3 (C) 295 (D) 417

32. Assertion (A) : In a case of accident length of the skid marks is measured to find out
the velocity of the vehicle.

Reason (R) : Length of the skid marks depends on the velocity of the vehicle.
(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation.

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

33. Foot prints on snow may be casted by :

(A) Plaster of paris (B) Wax (C) Sulphur (D) Alumina

34. Hammer marks are :
(A) Striation marks (B) Cut marks

(C) Compression marks (D) None of the above

35. Surface foot prints are lifted by :
(A) Casting (B) Tracing (C) Maulage (D) All the above

36. Radial fractures on glass sheet initially appears on :
(A) Side of impact (B) Opposite side of impact
(C) Both sides (D) The edge

37. The new borns are best identified by :
(A) Finger prints (B) Foot prints (C) Facial features (D) Lip prints

38. The first permanent molar erupts at the age of :

(A) 5 Years (B) 6 Years (C) 7 Years (D) 8 Years

39. Pearson’s formula is used for calculating :

(A) Cephalic index (B) Stature (C) Race (D) Age
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40. Latent finger print on the cloth can be developed by :
(A) Finger print powder (B) Iodine fuming method

(C) Ag NOjz method (D) All the above methods

41. The writing on a charred document can be deciphered with :
(A) Reflected light (B) Transmitted light

(C) Under UV radiation (D) ILR. Photography

42. Latent finger prints can be developed on multi coloured surface by :
(A) White powder (B) Black powder

(C) Gray powder (D) Florescent powder

43. Indented writing can be restored by :
(A) Visual examination (B) ESDA

(C) Microscopy (D) UV radiation

44. The bruise becomes green after about :

(A) 2 Days (B) 3 Days (C) 4 Days (D) 6 Days

45. In lacerated wounds the hair bulb is :

(A) Cut (B) Crushed (C) Lacerated (D) Both (A) & (B)

46. In lye detection graphs indicate the change in :
(A) Blood pressure (B) Skin resistance

(C) Pulse rate (D) All the above
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47.

48.

49.

50.

Read the following passage and answer question nos. 47, 48, 49 and 50 :

A man was found dead in a field with a pool of blood. He was shot by a firearm.
A blood stained ‘Lathi” was clenched in his hand. There were a few foot prints around.
Autopsy report showed the presence of tattoo marks around the wound and a few
pellets inside the body.

Clenching of ‘Lathi” in hand indicates :
(A) Pugilistic attitude (B) Rigor Mortis

(C) Cadaveric spasm (D) Putrefaction

Presence of pellets in the body indicates that the firearm used was a :

(A) Shot Gun (B) Rifle (C) Pistol (D) Revolver
The culprit can be identified with the help of blood examination by the following test :
(A) Blood Grouping (B) Protein enzyme detection

(C) Precipitine test (D) DNA

Tattooing indicates the distance of fire as :

(A) 2 (B) 5 (C) 10’ (D) 15’

-00o0-
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